Relation of Unemployment to the Ratio of Net-Investment/Net-Profits
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Italy

Unemployment as a Function of Net-Investment/Net-Profits
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Japan

Unemployment as a Function of Net-Investment/Net-Profits
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Canada 1970 -2010
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Canada 1970 - 1992

Unemployment as a Function of Net-Investment/Net-Profits
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Russian Federation

Unemployment as a Function of Net-Investment/Net-Profits
Russian Federation 1989-2009
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U.S. 1970 - 1984

Unemployment as a Function of Net-Investment/Net-Profits

U.S. 1970-1984
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US 1984 — 2009

Unemployment as a Function of Net-Investment/Net-Profits
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U.S. 1986 — 2009

Unemployment as a Function of Net-Investment/Net-Profits

U.S. 1986-2009
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U.S. 1970 - 2009
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